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234+ 327 + 3241 b 2?4+ 92? +27Tr 4+ 27
2 + 1522 + 752+ 125 d o® + 3=y + 3zy? + 99
3 -3z 43z -1 f z3 — 1522 + 75z — 125
z% — 1222 + 48z — 64 h z° — 322y + 3zy? — 1
8 + 12y + 6y2 + 3® i 823 +12z2 + 6z +1
27z + 2722 + 9z + 1

8y? + 36zy? + 542y + 2723

8 — 12y + 6y% — ¢° n 8x? — 1222 + 6x—1
2729 — 2722 + 9z — 1

By? — 362y® + 5dxly — 2727

zd + 43y + 622y + day + 4
zt 4+ 4r% 4 622 + 42 + 1
4 8r3 4 2452 4 327 + 16
r? + 1223 + 5422 + 108z + 81
zt — dxdy + 6x2y? — dzy® + 3t
xt —4r® 4 622 —4x + 1
r? — 8% + 242% — 322 + 16
1624 — 322% + 2422 — 8z + 1

1 5 10 10 5 1
1 6 156 20 15 6 1

We start and fimish each row with a 1. The other entries
are obtained by adding the two adjacent numbers in the row
above.
i a®+ 5a%b + 10a*h? + 10a?b? + Sab? + b°
il a® — 5a*h + 10a%b? — 10a?b® + 5ab? — b°
iii a®+ 6a®b 4 15atb? + 20a*b* + 15a2b* + Gab® 4+ b°
iv a® — 6a®b + 15210 — 20a%b® + 1502 — Gab® + b
i % — 10z* 4 402* — 80x? + 80z — 32
i When z=1, (z—-2"=(-1) =-1
and 1° —10x1* 4+40%x1® —80%x 1 +80%x1—32
=1—10+ 40— 804 50 — 32
==1



